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QUESTION 1

Using a number line evaluation, which value would indicate that an employee is being undercompensated for their
current level of contribution to the team? 

A. 0 

B. -2 

C. 2 

D. A range of -1 to +1 

Correct Answer: D 

 

QUESTION 2

Fill in the blank with the appropriate term. 

NOTE. Do not use abbreviation. 

________ is a configurable client identification that allows a client to communicate with a particular base station. 

Correct Answer: Service Set Identifier 

 

 

QUESTION 3

Which SOC model strives for the most comprehensive visibility into network and device activity? 

A. Large 

B. Virtual 

C. Small 

D. Managed Service 

Correct Answer: C 

 

QUESTION 4

What characteristic is shared by both the UDP and the IP protocols? 

A. Packet transmission uses ACK sequence numbers for session management 

B. The sender uses keep-alive packets to maintain connection with the recipient 
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C. The recipient is not expected to send verification the packet was received 

D. Connections are initiated with a multi-part handshake 

Correct Answer: B 

 

QUESTION 5

John works as a Security Administrator for Enet Inc. He uses a 4 digits personal identification number (PIN) to access
the computer and a token is used to perform offline checking whether John has entered the correct PIN or not. Which of
the following attacks is possible on John\\'s computer? 

A. Replay 

B. Smurf 

C. Man-In-The-Middle 

D. Brute force 

Correct Answer: D 
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